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&= =M SPNS S oA "ot =2 7t T
1 = Ot2| &S HiErH 22 19,000 1 19,000 17,100
2 ges Oh2| S HiERH Ha 21,000 1 21,000 18,900
3 S8 PO U HEHHEF A oj A 7| 13,000 1 13,000 11,700
4 32 XOotM HEY=E HEYR o2 9,500 1 9,500 8,550
5 ATt 255 Z34 2 ojAl 7| 14,000 1 14,000 12,600
6 ARAN MAS Y= A ool HEa 12,000 1 12,000 10,800
7 ARZAN Les S8 oL} tE G ES SR 12,000 1 12,000 10,800
8 ARZAN s R oL} tE G ESCE R 12,000 1 12,000 10,800
AnAN s 892 oL} tE G ES SR 12,000 1 12,000 10,800
el doet X1s HYE Hio[HI = 27| ENESHRA 25,000 1 25,000 22,500
e e 7| 7|~ Z3 O] M| 7| 14,000 1 14,000 12,600
Lp #3250t 7|2~ Z3 O] M| 7| 13,000 1 13,000 11,700
sYP B HEHHEF A O] M| 7| 13,000 1 13,000 11,700
== He= HER =Fzf8l 18,000 1 18,000 16,200
= AtE He= gfo[HE EZ|aA ot 4 22,000 1 22,000 19,800
=2 = 5SS DAL EA 2834020 12,000 1 12,000 10,800
% Q0|5 HY=E o2 XEIALAT} OlH=& 2|0t 25,000 1 25,000 22,500
hofe] ==L S M A F L0 25,000 1 25,000 22,500
B[ HEHHESA 0[N 7] 13,000 1 13,000 11,700
2iotch stat=H HYE HAML| EEhZ STIFLOf 25,000 1 25,000 22,500
2[ME o2 H2FE 18,000 1 18,000 16,200
F7I=H X A=A HEYL HEEEA 11,000 1 11,000 9,900




e Oft| of 1 OFe| EH S O|2|OfOt ALEA| Of EH 7,800 1 7,800 7,020
ol SEHEH ML XZH| A& FL 0 21,000 1 21,000 18,900
I—Eéf B AFE et A 52 EHE ARCH = E 38,000 1 38,000 34,200
= {9 Ux7t HYS T REQE =etsH0{ 20| 12,000 1 12,000 10,800
ANEHEY 2@ HES SFHNEHYSE =528l 6,800 1 6,800 6,120
%g; 2ES0I BX= orgel A EHE ARCH H &4 38,000 1 38,000 34,200
ofzfof Fi0| AS7ta Zz0|E 7|HE 28 18,000 1 18,000 16,200
ot Z=dl HES Z[X| A Of EH 9,800 1 9,800 8,820
OfEH| OJL HE=E ME HER Of EH 19,600 1 19,600 17,640
Opfio| At HES WA B =stsH0{ 20| 12,000 1 12,000 10,800

= & 525 8= HolHIE HYe ZeEH 0zl 12,000 1 12,000 10,800
o™ AMEES M2 7|2 Z3l oj A 7| 13,000 1 13,000 11,700
Qe(xe| ML= Aty HYS #0|E mE| H &4 28,000 1 28,000 25,200
it =50 BXl= TE2 MA ZHE AMRCH H &4 34,000 1 34,000 30,600
O M=%X|oF HE= 7|2 Z3 oj M 7| 14,000 1 14,000 12,600
O|&tot Lizto| dz|A HAS FolA HHH 4 MAZFEL O 33,000 1 33,000 29,700
O|&fot Li2tol dz|A XM F0F HYS Fo[A HHH Atmtz| 25,000 1 25,000 22,500
oM B+ HES 2 ME HA H &4 28,000 1 28,000 25,200
20| 2 7i+e HE= 7|~ Z3 O] M| 7| 14,000 1 14,000 12,600
A2 g07 XX oje| HE 22l 28,000 1 28,000 25,200
H32 Pop Y| HEHHESA Of A 7] 13,000 1 13,000 11,700
X2 Aglanrs dF 37| o RAIEZRATL Atte| 19,800 1 19,800 17,820
=Y=Y HiotsE Y= HYR =5 6,800 1 6,800 6,120
FlojLiete BEOEe 25 HES QteEte| 7|07t BREYYO| 6,000 1 6,000 5,400
FlojLiete X0 MHA QteEte| 7|07t ER=EHOl 6,000 1 6,000 5,400
e HeYgs ME ol 22| 2t = = b 22,000 1 22,000 19,800




49 E22 3T =5 285 HY=E ol XAEZLATL O|m&&/Ae[0} 25,000 1 25,000 22,500
50 ZOFX|OF Cf &0l MER R 10,000 2 20,000 18,000
51 L Zo|of of 2ol MHER R 10,000 2 20,000 18,000
52 defe A Lf & HAZE EE R 13,000 2 26,000 23,400
53 Jdef M AoHof W38 | &5t~ 12,000 2 24,000 21,600
54 7150 MEME et A7t S22 0120 12,000 2 24,000 21,600
55 nor 559 44 7| 8= A2ES 11,800 2 23,600 21,240
56 LR d=8 & 324 S0t AES 11,800 2 23,600 21,240
57 o 3 Lot a8 HF2F 2|00 = 13,000 2 26,000 23,400
58 o mERNE F Hop X|2| &4l CHE 11,000 2 22,000 19,800
59 ot oafEl o B2 MR Of M=ot 23 H & 14,000 2 28,000 25,200
60 SNE Tslf =2 EU T 0|3 2ES 11,800 2 23,600 21,240
61 L} StZ0| ofC|Z ZtS7t Hed gt20| 24 13,000 2 26,000 23,400
62 Lot &t A 2t TALET] AA = S%3 13,000 2 26,000 23,400
63 e e R ¥ CtA 0| 72 = E 12,000 2 24,000 21,600
64 37 OfLf? 2 Hlx HO{Eoto| 12,000 2 24,000 21,600
65 He EHRuhm gL 7| = 12,000 2 24,000 21,600
66 T 75 MEY MI{olHrE 10,000 2 20,000 18,000
67 FT~A? OB E ALED] AL FLOf 12,000 2 24,000 21,600
68 0|31 HF=2| 3=t E2=0| LtZHOF O 2t STFL o 12,000 2 24,000 21,600
69 CaLE A SXA JHLLEE 12,000 2 24,000 21,600
70 =2t Et=OfF, dotet Z40t HEA F 7|2 OFM M 15,000 2 30,000 27,000
71 Lol ofmM g & Egep 2ES 11,800 2 23,600 21,240
72 HZLE o9 TE O Hl S = 12,000 2 24,000 21,600
73 opa0r7E S4EM 23H 2ES 11,800 2 23,600 21,240




74 ofch 7| & H| 2~ mH 2] =95 13,000 2 26,000 23,400
75 O 2 of & &0| H=dt4 STIFLOf 11,000 2 22,000 19,800
76 Of o & &0| M=dt4 STIFLOf 11,000 2 22,000 19,800
77 Of o & &0| H=dt4 STIFLOf 11,000 2 22,000 19,800
78 3% 29 =28 HmA FLIO LA 13,000 2 26,000 23,400
79 sAs 0|7t of A m|of Lt=8 12,500 2 25,000 22,500
80 HFEfoL, Ht5| 2ES 11,800 2 23,600 21,240
81 HHIt e e Jul A 8t A 11,000 2 22,000 19,800
82 Hj 0= o2 HiE wtEs 14,000 2 28,000 25,200
83 = 22| Hefof =22 16,000 2 32,000 28,800
84 H719| CtA 0| 712 H &2 12,000 2 24,000 21,600
85 ol M ool k2 3oj2lo| 13,000 2 26,000 23,400
86 HaS Z0|H| 7 20|52 11,000 2 22,000 19,800
87 = Etg 430| 2ES 12,000 2 24,000 21,600
88 =22 %o Olz=d A2ES 11,800 2 23,600 21,240
89 e =2 HEY SFL 13,000 2 26,000 23,400
90 APEERF 3 orFE2Y 13,000 2 26,000 23,400
91 dXE 2| &Lt H[Zt=C] wrE 18,000 2 36,000 32,400
92 =59 Z[ 213 2ES 11,800 2 23,600 21,240
93 TEE3! ofgl 2 7| = 11,000 2 22,000 19,800
94 AlZ0 Argl 22e| SHRALEE 11,000 2 22,000 19,800
95 Mg 7] pS ] 2ES 11,800 2 23,600 21,240
9% M A 7|CtL| OfFA 2| H & 8,000 2 16,000 14,400
97 kLl 018 %A 12,000 2 24,000 21,600
98 AMEE HtR & 12,000 2 24,000 21,600
99 e el X ojopz= 13,000 2 26,000 23,400
100 ojgset oA=L O 12,000 2 24,000 21,600




101 LYSHE Maste E7| 0|07 AMEHA OEERE STIFLOf 12,000 2 24,000 21,600
102 == o= MEO| Fg| H &4 12,000 2 24,000 21,600
103 ALet S MR ERE 283 13,000 2 26,000 23,400
104 AHFLE "adojQI"etn o= WOp 7|AF HE EA EYE AbIzk2| 12,000 2 24,000 21,600
105 dAdo| ==2E= HE otES 13,000 2 26,000 23,400
106 Ol=7t A0 SRR Ha 14,000 2 28,000 25,200
107 of At MCrE = AHX|? i EH S Bl 2tA|OF &/ 7F ekt 12,000 2 24,000 21,600
108 | 87| Y& oto] Bjo|Z =l 4=e 12000 | 2 24,000 21,600
109 718 WO E ] 13,000 2 26,000 23,400
110 2| ChA| Bt 4 0Jot 12,000 2 24,000 21,600
111 2 2 s=#0 Ao AH|OF gHAl B[O 13,000 2 26,000 23,400
112 230l ¢ 20 220 HEE 31,000 2 62,000 55,800
113 22 7Hi 7|EtREL ALEA] 12,000 2 24,000 21,600
114 A Mg 7t & A EYF 12,000 2 24,000 21,600
115 O|F gle Y0 CHAAIEF 20|12 12,000 2 24,000 21,600
116 O[Ab ZH7] 2dOf! 2H|obL S20|2 12,000 2 24,000 21,600
117 25 02| or7] g4, / |MS! HHr~E[eF M2 X =4 13,000 2 26,000 23,400
118 Ya e MAZ S0t AT AES 11,800 2 23,600 21,240
119 A A7 ekl PN ZFL|O{RHK 13,000 2 26,000 23,400
120 Zg Ch2® oF &f? =0 Lt = 2lA{ 12,000 2 24,000 21,600
121 A=x= F2 He E7| 0[0Y| UEHA 2R E STUFLO 12,000 2 24,000 21,600
122 H2d 8l ofgy 22X 7 =EHot 2 12,000 2 24,000 21,600
123 Kz shueb Mz HYsF Lt7}OF O|2t STIFLOf 12,000 2 24,000 21,600
124 XfAlSt= = 0| Hizt d=3 S22 4t 13,000 2 26,000 23,400
125 SHLYX] 20 ofjsA ol oro| A AMAS 11,000 2 22,000 19,800
126 g2 X7 X&HO| BEX[ 4 AES 11,800 2 23,600 21,240




127 NESS0| A= Ltef ZE|AME A& FL 0 10,500 2 21,000 18,900
128 o|Z4 Lf ZXt7t OFL|Of = St A& FL 0 12,000 2 24,000 21,600
129 20|7¢ otLtE, dEE oLE =2 o Mol=s 12,000 2 24,000 21,600
130 26|74 Z5HH, HEHE £451H =2 o Mol=s& 12,000 2 24,000 21,600
131 50| &2 meEps o ZHE T.2EA AYLLR 13,000 2 26,000 23,400
132 press here Tullet, Herve ChronicleBoooks 19,100 2 38,200 34,380
133 J-X}E &0] O|=X| H A 16,000 2 32,000 28,800
134 ot OF =4t O|=X| HEa 12,000 2 24,000 21,600
135 HESHLE HAML| Btz STIFLOf 9,000 2 18,000 16,200
136 Liet HAML| Btz STFLOf 11,000 2 22,000 19,800
137 fels 24 HML| Btz STFLOf 13,000 2 26,000 23,400
138 YR ot g S 13,000 2 26,000 23,400
139 fE|= HLE CEA] BELE =0 g FI=E5tR A 12,000 2 24,000 21,600
140 A0po| &bk 207500 AEE 10,000 2 20,000 18,000
141 oEsE & E2 52 100 PSP IS =230 12,000 1 12,000 10,800
142 THEN+wHAS ME w23 MoA=a 24,000 1 24,000 21,600
143 A2 YE(EMB0H, FACDTY) YR of &0|C|of 442,000 1 442,000 397,800
144 HE 2O MET103) 2y < ge| 108,000 1 108,000 97,200
15 | JOSTHEIE SSHIE(E, Heh, S, ofs, ol2to] EAIL CEN 62000 | 6 372,000 334,800
146 A=ot ATUSSMETE 20A-MHOIH HE) HER IIg=2 110,000 1 110,000 99,000




(WdH )

= =M SENS STHAL "ot =& 7t T

1 At HEZLZ HEH 2 R 12,800 2 25,600 23,040
2 Tcm CHOIE Ef <= o7t 13,500 2 27,000 24,300
3 ool &4 Eli 3] ojojesE 13,800 2 27,600 24,840
4 SHEX| o™ & = QlojA Ol ZEz} zas4| 13,500 2 27,000 24,300
5 K5 7t A0l HAAHY SUHE 14,500 2 29,000 26,100
6 2ol 7|8l &5 PSET N | 14,000 2 28,000 25,200
7 OfF %2 ol o HYs 220 HELASA 16,000 2 32,000 28,800
8 LHE At St HE Hq32 234 14,000 2 28,000 25,200
9 LA == z[19| ME XEH FLOA HZE Oj2HEFR= 14,800 2 29,600 26,640
10 O ofolgh AEHES2 fIoh M Mg =0tz 18,000 2 36,000 32,400
11 |15 LD SN TS BE BF S gojmis s g1 SESSCCES 16000 | 2 32,000 28,800
12 L7t &dte AS L 25 I st Chit=g 16,000 2 32,000 28,800
13 =0ter mjf 4zl EEls EX WZtol Y 15,800 2 31,600 28,440
14 o 24 o|7|% gaEA 14,500 2 29,000 26,100
15 7|20] EfE=7} &[X| EA gl 22 Ae|2 14,000 2 28,000 25,200
16 d=3t O|E20| ZFof & F2 s ol CHeA 15,000 2 30,000 27,000
17 =UF2 W HO| FofF7|=2 ALt HEE ARCRREE] 13,500 2 27,000 24,300
18 £o| tiol= A | 0| X|2 17,000 2 34,000 30,600
19 AbME 1102]2] RHE Ol=% Al S A 13,000 2 26,000 23,400
20 MEZ0|M ZFYRIc2 Hotztite A groly LE|HE 13,200 2 26,400 23,760
21 otFol Y dud SEo|Z 13,500 2 27,000 24,300
22 2E 299 oA 4 =eto|Z 13,500 2 27,000 24,300




SN oot 1 29| Ly 2 EHE 2ALLF 13,500 2 27,000 24,300
FEe|o| FXtE|7| S Z g PNESICAul3=y 15,000 2 30,000 27,000
Zlmol FA, %Al EIO|Y 2z|g )Y TRHEA 19,800 2 39,600 35,640
100 Q14 2 SHOJA & AAHE 20,000 2 40,000 36,000
0|2 et {8 M E 18000 | 2 36,000 32,400
=0|2 CJXteISt= |FXE HEH| Ol&f|F, O|X|HA 2o =2 20,000 2 40,000 36,000
QXY BtF2Y oEH Bk e g A 18000 | 2 36,000 32,400
WA A3
JEM £0[82 d25 2 4 nsd A4 19,800 2 39,600 35,640
Heteel 23 & H Hel ds m=a A 13,000 2 26,000 23,400
dRotzdus o84 LM A 21,000 1 21,000 21,000
FOIE 9ot % u=xo| O|21nt A M8 SEX| A 19,000 1 19,000 19,000
o SEPN =R A 35,000 1 35,000 31,500
4 Y20 nsHst g LEa OpZtH|Oj =2 & 17,000 1 17,000 17,000
100H0| X|L}H O|A|O] F2r0| HESTA 12,000 2 24,000 21,600
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